### **Dr. Lynda G. Washington University**

6111 Harrison Street, Suite 124 Merrillville, IN, USA

Phone: (708) 359-2746

#### **Registration Form**

Name	Soc. Sec. No.		
Address		Date of Birth	
City	_State	Zip	
Telephone: HomeF	ax	Other	
E-mail:			
Degree Sought at (DLWU)			
Associates of Biblical Stud	lies	60 hrs @ \$100.00 = \$6,000	
Bachelors of Biblical Stud	ies	75 hrs @ \$100.00 = \$7,500	
Bachelors of Ministry		75 hrs @ \$100.00 = \$7,500	
<b>Bachelors of Pastoral Counseling</b>		75 hrs @ \$100.00 = \$7,500	
Bachelors of Music & The Arts	Sacred	75 hrs @ \$100.00 = \$7,500	
Bachelors in Christian Ed	ucation	75 hrs @ \$100.00 = \$7,500	
Masters of Biblical Studie	S	36 hrs @ \$100.00 = \$3,600	
Masters of Ministry		36 hrs @ \$100.00 = \$3,600	
Masters of Pastoral Counseling		36 hrs @ \$100.00 = \$3,600	
Masters of Music & The S Arts	Sacred	36 hrs @ \$100.00 = \$3,600	
Masters in Christian Educ	cation	36 hrs @ \$100.00 = \$3,600	
Masters in Theological St	tudies	36 hrs @ \$100.00 = \$3,600	
Masters in Finance & Chu		,	
Administration		36 hrs @ \$100.00 = \$3,600	
Doctor of Biblical Studies		36 hrs @ \$120.00 = \$4,320	

<ul> <li>Doctor of Ministry</li> <li>Doctor of Pastoral Counseling</li> <li>Doctor of Theology</li> </ul>	36 hrs @ \$120.00 = \$4,320 36 hrs @ \$120.00 = \$4,320 36 hrs @ \$120.00 = \$4,320	
Doctor of Music & The Sacred Arts	36 hrs @ \$120.00 =\$4,320	
Doctorate in Christian Education Doctorate in Finance & Church	36 hrs @ \$120.00 = \$4,320	
Administration	36 hrs @ \$120.00 = \$4,320	
Profession:Numl	per of Years in profession:	
Home Church:		
Use the <u>Application Checklist</u> to be sure your application process has been done. Then read and sign the following statement the other documents and a non-refundable the above address. Thank you.  "The information supplied on my applicate hereby give permission for Dr. Lynda G. We and confirm any of the information provide supporting documents. All work transmitted except where clearly stated to the contrary at any time it is demonstrated that I have may be dismissed from the Institute with may degree(s) awarded to me may be rescinded.	ent. Send this form, along with ble Registration Fee of \$80.00 to lion form is true and accurate. It washington University to verify led on this form and on led to the Institute is my own, and accept that it is represented me or my work, It o refund of fees paid, and any	
Signature	<u>Date</u>	

### **Application Checklist**

Please keep this form for your own records. Please do not send any irreplaceable documents. Send copies only. Although we attempt to manage with care all materials received, we will not accept the responsibility of preserving your rare documents.

	Completed and signed Registration Form.
well.	Request three (3) letters of reference from persons who know you Ask those persons to send the letters directly to our office. At least could be from an employer or person familiar with your career. If ole, one should be from a person familiar with your academic c.
	Enclose the Registration Fee of \$100.00, which is not refundable.
	Copies of Transcripts, CEU's, Diplomas, etc.
	Current resume, curriculum vitae, or biographical sketch.
	Recent photograph.
	Ordination or Commissioning papers if applicable.
	Any other item that you think might be useful in helping Dr. G. Washington University to know you better and to understand notivation in applying for admission to the Institute.

# **Keep for your records.**

# Dr. Lynda G. Washington University

6111 Harrison Street, Suite 124 Merrillville, IN, USA

Phone: (708) 359-2746

Degree Sought at DLWU;				
Associates of Biblica	al Studies:	<b>6</b> 0 hrs@ \$1000.00 = \$6,000		
Bachelor of Arts in:				
Biblical Studies	75 hrs @ \$1	100.00 = \$7,500		
Ministry	75 hrs @ \$1	100.00 = \$7,500		
Pastoral Counseling Music & The Sacred Ar		100.00 = \$7,500		
	75 hrs @ \$1	100.00 = \$7,500		
Christian Education	75 hrs @ \$1	100.00 = \$7,500		
Master of Arts in Biblical Studies Ministry Pastoral Counseling Music & The Sacred Christian Education Finance & Church A		36 hrs @ \$100.00 = \$3,600		
Masters in theologic	cal studies:	36 hrs @ \$100.00 = \$3,600		
Specialization in a chosen are combined with another profes		h and provides for Doctoral Study. It can be		
Doctor of Ministry:		36 hrs @ \$120.00 = \$4,320		
Specialization in the Ministr Accelerated Degree Program		gram and/or degree credits in the Pastor's		

Doctor	· of Philosophy in	36 hrs @ \$120.00 = \$4,320
	Biblical Studies Ministry Pastoral Counseling Music & The Sacred Arts Christian Education Finance & Church Administration	
	Doctor of Theology:	36 hrs @ \$120.00 = \$4,320
A specirequire	•	ctorate. Advanced studies in Theology are

#### **CEU Credit**

Bachelors - \$4.37per CEU Credit hr.

Masters - \$6.25perCEU Credit hr.

**Doctorate - \$7.81perCEU Credit hr.**